o 19 =

o oAl AD /BCo]1, A

7} AB,DC 2] ZHo|th 4’ D—E’FLﬂ
, Holt}. x o] g2? o




oS oA & Y82 M2 g2 Tgo]al
E=ol= 717} Gem, 10cm & off, e %y 2 9 /]EH,] 71o],]

H]=?
10cm:
6cm

@ 2:3 @ 3:2 @3:5 @ 5:3 ® 3:4

E Egolo Het A9 H7L goB R 6 ¢




3. theolA AE ¢ Zol? (&, AD //EC)

@ 4 @ 6 ® 8

@9 ® 11

B

DA // CE °]|22 /DAC = /ACE (92}, /BAD = /AEC
(592, /BAD = /DAC °©|E2 /ACE = /AEC

kA AACE £ o5z go]|22 AE = AC °]t}.

ui2bA] AE ] Fol& 9 ojch




4. o 3™ /m [/n D W, xy °] FZ= TSt

3
S

7 NG




th2 13 9] AABCo|lA BC//DE©]
1, PE = 6cm, BQ = 5cm, QC =
10cm ¥ o, DP + AD 9] Zo|&
Shodzt,

» = cm
> HE! 12em
DP:BQ =PE:QCo|2
DP:5=6:10

. DP = 3(cm)
AB:AD:BQ:WO]EE
15:AD=5:3
. AD = 9(cm)

- DP+AD =3+9=12(cm)




